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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1

BfiE) | GEBATIC (R) | ERE (EH /&) | ERERE (B/R) | XS R

07:35 145 80.0 1.728 = {RRiB007:35 Bz (RAKEE)
08:40 145 80.0 1.728 S| {RRi&e08:40 Bzh (GRAEFESR)
10:40 145 80.0 1.728 =l RRiB010:40 B (RFAEEE)
12:20 145 80.0 1.728 =l RiBe12:20 B3 (REAKEE)
14:10 145 80.0 1.728 E| {Rige14:10 Bzh (GRE{ERSE)
15:50 145 80.0 1.728 F BRige15:50 Bz (GRAERE)
Bit| 870.0 (6X%) 480.0 3ZHKEC: 2800.0, PH: 6.5

EREBRIELL TR (0.65 vs 0.57)), AIREE ZIRREIEREEIRK

ERIASSPRIERE81.0 ml.

large discrepency for begining water status (64:267.0), set to 64 ml.
REXREBIPH (10.67) 5i&EPH (6.5) REWR K, BT
REXRERLPH (10.67) 5FMPH (6.5) REWR K, BT
REXEBIEC (1884.0) 5iRTEEC (2600.0) REK KA, BT
LIRGEBIEC (2897.0) S51EAEY (2340.0) RERK, BRE.
LRGEBIPH (10.7) 5i&8%E{E (6.5) RERK, BERE.
ERGEBIPH (10.7) S5#EEE (6.5) REKK, HRE.




G3-1_0, Day=22 (2025-06-03)
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G3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:35 105 80.0 1.728 (2 =| 1Ri8006:35 Bzh (KREEREE)
07:35 105 80.0 1.728 | 1Ri&e07:35 Bz (KAL)
09:30 105 80.0 1.728 5| 1RiR@09:30 Bz (KREEESE)
11:15 105 80.0 1.728 =l Rige11:15 B3 (RAERSE)
13:05 105 80.0 1.728 |2 =| 1BRige13:05 Bzh (REERESE)
14:25 105 80.0 1.728 (2 =| 1Ri%e14:25 Bz (REFEBRSR)
15:50 105 80.0 1.728 | =| 1Ri%e15:50 Bz (kBEREE)
=23t| 735.0 (%) 560. 0 3EGHKEC: 2800.0, PH: 6.5

large discrepency for begining water status (114:291.0), set to 114 ml.
REXEBIPH (10.54) 5i&EPH (6.5) RER KA, HFHRE
REXFEBIPH (10.54) 5FMPH (6.5) RERK, FHRE
REXEBIEC (1884.0) 5iRTEEC (2500.0) REK K, BT

LOREBIEC (2740.0) S51EEIEY (2340.0) RERK, BRE.

EUGERPH (11.3) 5i8EE (6.5 REKK, FHE.
LORGEBIPH (11.3) S5#AVEWN (6.5) RERK, BRE.




G3-1_0, Day=21 (2025-06-02)
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G3-1

BFE) | GEBATK () | s (EAR/#) | EREE (B/R) | X5 R

09:35 98 80.0 1.728 | =| 1Ri%@09:35 Bz (kAEREE)
12:05 98 80.0 1.728 FH| {Ri&@12:05 Bz (RAKEESE)
23t 196.0 (2%) 160.0 3203 KEC: 2800.0, PH: 6.5

ERGEBRT R IZIR B I (98 vs 129.0))

FRIALPRIEBRE61. 0 ml.

large discrepency for begining water status (87:276.0), set to 87 ml.
REXEBIPH (10.4) 5i%FEPH (6.4) REK KA, BRE

REXFEBIPH (10.4) 5FMPH (6.5) wEKK, BRE

ERGEBIEC (2045.0) 5% E(E (2500.0) RERAKA, FHRE.

LERGERPH (10.8) H5igE(E (6.5) REKK, BHRE.

LERGEBIPH (10.8) S5iREEIY (6.5) REKRK, HRE.



G3-1_0, Day=20 (2025-06-01)

wfF—————f————————Ff—————Ff T ]
P VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad JFRV, ET | 600
60 ’i
30 333 400 _
40 26522 E
230
188 400 2
20 - ra
Warning: lcol [FVI',| "FVO’'] missing if I
8@ F——— B 0
R —— ME P30.0
Ic 60 FRV maxM L 57 5
©
240 - 25.0
£
= 20 . L 22.5
o I I I -20.0
10 1 1 1 | | :
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2958 —,
optEC0=1800. 0, setECB=2800.0 —>—  ECB*10%
2500 - H———¢ 3% X ® ECC
2250
2000 ° L
) [ J
1750 - ®
o ° ¢ o
10 optPHO=6.5, setPHB=6.5 o ¢ —>—  PHB*10%
® PHC
8 -
6 i N E) E) ) 7
! 1500
= Bylnit @iD24 02:08: ET=992 [Fg=1040.0 Ro=163.0 o
& ] ! &
= 200 ! —o——8 |
N | >
< 1 E
E 100 - i 500 g
Lo L | I a
O_t::::’fg;h’ff a — 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 ] 15 [ 16 | 17 [ 18 | 19 [ 20 | 21 | 22 | 23 [ 1500
o Nl | BH A [§5] 55 [A A A 3] [A 3] A 3] [A [55] A [55] [A [A A 3] [A [A A i~
S 500 4 A7 e _ i ! §
3 2001 ByEt @020 19:07: ET=370 Fg=300.0 Ro=nan : 1000 &
£ : E
E 100 : - 500 (o
1 [
o 3
1
0 ’E f! ,! jl AAJ!— {! || I — 1 0
0 1 2 3 ] 5 6 7 8 9 [ 10 | 11 [ 12 [ 13 [ 14 ] 15 [ 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 [ 1500
o~ Nl | BH BH | Xm|)JWm| E | £ z LT |Zx|%x]| BB FA [A A FA FA [A A FA EEEREZAEES o~
S 900 4 ! DY _ _ §
o 2007 ByWoFv @D24 02:08: ET=188 Fg=160. 0 Ro=0 1000 &
£ : E
E 100 - i 500 g
o 1 T e & e @ o 3
e—o o o o
1.0 I — —— — W 0
: 0 1 2 3 ] 5 6 7 8 9 [ 10 11 |12 ] 13 ] 14 [ 15 [ 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
084 Nl | BH BH | Xm|)JWm| E | £ z LT |Zx|%x]| BB FA [A A FA FA [A A FA EEEREZAEES
0.6 -
0.4 -
0.2 -
0.0
—_— 4
600 ~ [ ] | _obs
—@— PPFD obs
400 -
200 -

RH
RH_obs
RHo _obs




32.

32.

31.

31.

31.

31.

30.

28 -

26 -

24 A

22 -

20 -

600

760 860
m=790,n FV0=0

T
900

T
1000

27 A

26 A

25 A

24 -

23 A

22 -

——

M_E

790

7é5
m=595,n FV0=0

T
800

25 A

00 -

75 1

50 A

25 -

00 ~

75 -

——

M_W

595

600

605

m=540, FV0=0

26

25 A

24 -

23 A

22 -

21 -

—o— ME

540

5&5
m=940,n FV0=0

T
550

27 A

26 -

25 -

24 -

23 -

22 -

21 -

—o— M_E

940

945
m=655,n FV0=0

T
950

33. 00 A

32.75 A

32. 50 A

32.25 A

32.00 A

31. 75 A

—— MW

655

660

665

32.

32.

32.

32.

31.

31.

31.

m=595, FV0=0

28 A

27 A

26 -

25 A

24 -

23 A

—e— ME

595

600

605

33 A

32 -

31

30 -

M_W

T
600

760 860
m=790,n FV0=0

T
900

75 A

50 -

25 A

00 ~

75 -

50 A

25 -

—— MW

790

795

800

31.

30.

30.

30.

30.

29.

1000

32.

32.

32.

31.

31.

31.

m=635, FV0=0

28 -

27

26

25 -

24

23 A

- ME

655

6é0
m=540,n FV0=0

T
665

00 -

75 A

50 -

25

00 -

75 A

-0 MW

540

5&5
m=940,n FV0=0

T
550

50

25 A

00 -

75 1

50

25 -

—0— MW

940

945

950




